SEL NA DESITKY

Ni CI

ZAOKROUHLOVA

Zaokrouhli na desitky.

Vysledek zaokrouhli na desitky.
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Zaokrouhli na desitky.

Vysledek zaokrouhli na desitky.

X 301 X
41 = 92 =

42 = 52 =
43 = 63 =
44 = 47 =
45 = 58 =
46 = 69 =
47 = 87 =
48 = 54 =
49 = 21 =
50 = 89 =
51 = 56 =
52 = 23 =
53 = 98 =
54 = 65 =
55 = 32 =
56 = 78 =
57 = 45 =
58 = 12 2
59 = 35 =
60 = 59 =
61 = 74 =
62 = 93 =

94

61

76

82 =

27

41

68

72:9 =
56:7 =
81:9 =
36:6 =
42:7=
45:9 =
32:4 =
64:8 =
54:6 =
12:3 =
16:4 =
24:3 =
36:4 =
63:7 =
45:5 =
15:5 =
27:3 =
25:5 =
48:6 =
49:7 =
30:5 =

24 :6 =




